Regular Physics Chapter 3  Vector Construction Problem       Name _________________________

On November 6, 2000 Wyoga Lake Road was closed north of Steels Corner Road and south of CVCA. It was closed until the end of December. Traffic was detoured west to State, north and east to Seasons Road, East on Seasons Road and then south on Wyoga Lake Road to CVCA. Following are listed seven segments of the trip with magnitude and direction. Find the displacement from the corner of Steels Corner Road and Wyoga Lake Road to the school by any method you choose. How much further did you have to drive if you had to take the detour to school? 

0.73 miles W,     

0.34 miles N 2o E,    

0.58 miles N 21o E,    

0.61 miles N 36o East,    

0.15 miles N 26o E,       

0.07 miles E,    

0.52 miles S

